FINDING ACCEPTANCE RANGES FOR THE SACRED CUT RATIOS

1. For each Sacred Cut Ratios, find Acceptance Ranges that you will use.
Assume that the measurements are no more than 2% off and hence the
measured ratios can be no more than 4% off from the Sacred Cut ratios
to be considered acceptable.
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FINDING ACCEPTANCE RANGES FOR THE SACRED CUT RATIOS

2. Remember that the measurements in the Garden Houses were 5,7, 17,
28, 41, and 58. For each ratio, decide whether or not it falls within an
acceptance range.
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